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Who among the following was the founder of the
Banasthali University in Rajasthan ?

(A) Kishori Devi

(B) Kaali Bai

(C) Rama Devi

(D) Ratan Shastri

(E)  Question not attempted

ffafad o § S Teee™ § aee! faafaerea
T gEmen off 2

(A) Toramd et

(B) wIctt aE

(C) T

(D) T T

(E) Srgaiaud

Which of the following states are associated with
North-East border of Rajasthan ?

Choose the most appropriate answer from the
following options :

(A) Delhi and Haryana

(B) Punjab and Haryana

(C) Gujarat and Madhya Pradesh

(D) Madhya Pradesh and Uttar Pradesh

(E)  Question not attempted

TSTET ol ST ET foft Tl & et 2 2
freferfiaa fopedt 3 & qead 3w I =4:

(A)  feeett 3t g

(B) USITe 3R &fmom

(C)  TTSHId {1 HET et

(D) TET YT 3R 3T IeTT

(E) Igaid g

E7] 00

Which of the following is the highest point in the
Aravali range in Rajasthan ?

Choose the most appropriate answer from the
following options :

(A) Dilwara Peak

(B) Achalgarh

(C)  Guru Shikhar

(D) Kumbhalgarh

(E)  Question not attempted

TR H AUt ydaqqTet § efaiad 8 9 S
T G ST T 22

frrferiiaa forpedl 3 & gerd 3w 3o T4:

(A) fectarer famex

(B)  3TeTTe

(©) T RmR

(D) FIATE

o

(E)  3{ild 9

From which of the following places, the river
Mabhi originates?
Choose the most appropriate answer from the

options given below :

(A) Mahu
(B) Bheroka Math
(C) Minda

(D) Mountain of Nagg

(E)  Question not attempted

et &t fefafaa & 9 fore wom @ fererdt 2 2
i o o forehedt & & e S0 ST A
(A) #g
(B) WU HS
©) fier
(D) AT YEq
(E) 3qaid 9
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Which of the following regions receives the
highest rainfall in Rajasthan ?

Choose the most appropriate answer from the
following options :

(A) Bikaner

(B) Churu

(C) Rajsamand

(D) Jaisalmer

(E)  Question not attempted

TSTEAT | Herd ATk auf arett & e g 4 & a1
g2

frmfafiad faepedl o & Fed 39w I T:

(A) B

B) =&

(C) TS@HS

(D) SR

(E) gaid 9

Which of the following elements is not available
in the alluvial soil of Rajasthan ?

(A) Tron

(B) Nitrogen

(C) Phosphorous

(D) Lime

(E)  Question not attempted

TS i SIale el i FHHfAiad 5 § i a7 dcd
YT el & 2

(A) @

(B) g

(C) HEHRE

(D) =

N

(E) a1

E7] 00

Match List I with List II.

List-1 List-11

(Vegetation (Prime usage

of Rajasthan) of Vegetation)

a. Salar Tree L Making tools of
Agriculture

b. Khejri II.  Nutritious grass for
dairy animals

c. Dhaman III.  For making

packing boxes

d. Sagwan wood IV. High utility tree of

Rajasthan
(Kalpvriksh of
Desert)

T 1 1 o= 118 gafa

et 1 et 11

(TEATT hY TAFAT) (SAEATA T TS ITART)

a.  HRRIH I N 3TN ST

b. WE L < e & fag
Gifse o1|

c. gmd . T dfed s &
fere

d. @TEES IV. TSR &7 e

NES) IRt 38

(LR =T Heaga)

Choose the most appropriate answer from the
options given below:
= faq e foeredt # € He® 3T I I:
(A) a1V, b-II1, c-11, d-1
(B) a-L, b-1V, c-1I11, d-1I
(©) a-lL b-1V, c-1, d-I1
(D) a-lI, b-1V, c-11, d-1
(E)  Question not attempted / 31'@'?{?[ Iq
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Which of the following National Park is located
in Rajasthan ?

Choose the most appropriate answer from the
options given below :

(A) Sundervan

(B) Jim Corbett

(C) Bandipur

(D) Keoladev

(E)  Question not attempted

frefefaa & & =9 a1 o ST aere § fug
22

et o T forshedt H & ward ST ST I

(A) g&ad

B) FmaEe
(C) R

(D) AT
(E) 3rgafd 9

Which of the following environmental issues has
come forward because of Indira Gandhi Canal
Project ?

(A) Salinity in soil

(B)  Deforestation

(C)  Air Pollution

(D)  Noise Pollution

(E)  Question not attempted

T i TeX IREISHT & RO FreTetfad § & -

|1 T et ey | AR 2
(A) e d @

(B) =1 shl g (SHSHEH)
(€)  IRHeET

(D) A Jgor

(E) Igaid g

E7] 00
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11

An effort to control desertification in Rajasthan
can be achieved by : (Choose the most appropriate
answer from the following options)

(A) Conservation through plantation

(B) Ban on cattle grazing

(C) Minimum use of urea

(D)  Strip cropping

(E)  Question not attempted

TTET B HEEATeRuT b ffa e ot e forer
% g TR ST TRt 27 (Frefafad fasedt & &
el ITYH I )

(A)  FEARIIT & HTEAH & T

(B) AR & =i W yfaer

(C) i = ~AqH IWATT

(D) fegasifaT

(E)  3{ild 9

Which one of the following governors is a type of
spring loaded governor?

(A) Watt

(B) Hartnell

(C) Porter

(D)  Proell

(E)  Question not attempted

FFATARE 5 & hi7-81 TawT (ST A Tee T &l T

THRE 2

(A) T
(B) ®RAA
(©) WX
(D) e
(E) 3qaid 9
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13

14

The Gruebler’s criterion for determining the
degrees of Freedom (F) of a mechanism having
'n’ links and ‘p’ pairs is given by:

‘n’ Tefsh 3R p’ I a1t 9F T Aqfwh eIl (F)
fuifed & o foIT oo &1 Aede 39 TR fen
TITR:

(A) F=3m+1)+2p
(B) F=3m+1)-2p
(C) F=3m-1)+2p
(D) F=3mn-1)-2p
(E)  Question not attempted / ST I

The total number of instantaneous centres for a
mechanism containing ‘n’ links is given by :

‘n” fofeh aTet 3 o foTq dTcepiforen shal o1 et Hee
frAyrRdmEe:

nn-1)
A =7

(n-1)
B) 5
(©) nm-1
D) (r-1)

(E)  Question not attempted / Eﬂfﬁﬁﬁ Ll

Static balancing involves balancing of :
(A) Forces

(B) Couples

(C) Forces as well as couples

(D) Masses

(E)  Question not attempted

et T AT e B

A) a9 B) IH

(©) =@smIW (D)
() Iqaid

S

E7] 00
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16

A fly wheel absorbs energy during those periods

of crank rotation when -

(A) The turning moment is less than the
resisting moment.

(B) The turning moment is equal to the
resisting moment.

(C) The turning moment is greater than the
resisting moment.

(D)  Absorbs during all the periods of crank
rotation.

(E)  Question not attempted

Tk TATS Salel sheh UM ol 3 Tafem™T & G

ST ol ST LT & I -

(A) T A WS Hie @ 0 2T 2

(B) o Yt aie & s ar 2

(C) < Hide YSifke ditle @ feres B 2

(D) oheh Tox <l @it Taferat 3 SR STanfya
AT 2

(E) Iqaid

The angle of friction is the maximum angle
between:

(A) Normal reaction and Frictional force

(B) Normal reaction and the Resultant reaction
(C) Frictional force and Normal reaction

(D)  Frictional force and the Resultant reaction

(E)  Question not attempted

N o7 Ffeifad & 9 foraes s @ fiean
I 7

(A) G Yfafsrar S aeo s

(B) Gt widfsham 3 ufvorrt wfafsram

(C) =N e 3T W= Sidfsham

(D) =T oo 37 afordt wfafsrar

(E) 3rfmild o=
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17  Areduction in amplitude of successive oscillation | 19  According to Col. Tod which of the following
indicate: fort was built by traders Bhainsa Shah and Roda

(A) free vibration Charan ?

(B) force vibration (A)  Gagron fort

B Churu fort
(C) damped vibration (B) uru for

C) Junagarh fort
(D) natural vibration ©) g

(D) Bhainsrorgarh fort
(E)  Question not attempted

(E)  Question not attempted

hiHeh QIet o ST H HHt & Heh HetdT 2 .
‘ A 21e & R fmfafied o @ & 91 foem
(A) T SR FET IME 3T TS =IROT gRT ST =7 97 2
®) S (A) TR feRar
(C)  SreHfed FoT (B) =& fFem
(E) 3 e (D) Hatree forar
(E) rfdita o=

18  In 1437, in the battle of Sarangpur, who defeated 20 Who is depicted as a warrior riding a horse and

iz
Mahmud Khilji-I" holding a sword, whose tongue is getting bitten

(A) Rana Kumbha by a snake ?

(B) Rana Sanga (A) Pabuji
(C) Rana Lakha (B) Tejaji
(D) Rana Raimal (C) Devanarayanji
(E)  Question not attempted (D)  Ramdevji
1437 T ST AT T § weqe facs-yam &l (E)  Question not attempted
R BT foreen! T W O 3T daR e T€l & &9 5
(A) TOmET T W 8, el S waiT sa wr e 2
(B) TOmEm GV
(B) AT
(C) T RET
(C) SN
(D) O TFHS
(D) THSESH
() a9
(E)  3fmild o=

E7] 00 6 [ Contd...
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22

Nihalchand, who immortalized Sawant Singh
and Bani-Thani, was associated with :

(A) Painting

(B)  Architecture

(C) Music

(D) Embroidery

(E)  Question not attempted

graa g R a3 il 3 s 9Tt e
e 2 30

(A) Teashe

(B)  amegehett

(€) wfa

(D) e

(E) rgaiayg

Which dialect is spoken in the areas of Churu,

Jhunjhunu, Hanumangarth, Suratgarh and

Ganganagar ?
(A) Hadoti

(B) Mewati

(C) Marwari

(D)  Shekhawati

(E)  Question not attempted

T, I, TIHATE, YATE S TR % et
I i et St STt

(A) et

(B) Hardt

(C) HARarE

(D) r@TETer

(E) Saf@ys

E7] 00
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24

25

‘Shankariya Dance’ of Rajasthan is related to :

(A)
(B
©
(D)
(E)

Bhil
Sahariya
Kalbeliya
Banjaras

Question not attempted

TSTET T TR T T foRedr weiferg 82

(A)
B
©
(D)
(E)

et
Tefer
EASEISRN
EEIL
AN 9

The groove angle of the pulley for V-belt drive is

usually:

ft-siee g1 o oI qeft 1 I 107 STHAR o B

&

(A)
©
(E)

20° —25° (B) 25°-32°

32°—-38° (D) 38°-—45°

Question not attempted / 3774 )

In cam and follower arrangement, which one of

the following is not a follower type ?

(A) Flat edge follower

(B) Knife edge follower
(C) Mushroom follower
(D) Dwell follower

(E)  Question not attempted
7 BIcATR raeen # frafafad § & 9 a1
HIGHST T T &2

(A) TRIT TS BIATS

(B) TS TSl HiciIST

(C) TITEH BIeAST

(D) SO BCSN

(E) gaia g
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26  The AutoCAD ‘break’ command is used for: 28 Which one is not applicable for geometric

(A) Drawing a cutting plane modeling?

(B) Breaking a polyline into individual (A)  Wire frame modeling

segments (B) Surface modeling

(C) Erasing a portion of line or area between (€)  Solid modeling

two selected points (D)  Array modeling

(D) Making a recess in a 3D model (E)  Question not attempted
(E)  Question not attempted Wm%mﬁ-quﬁ% ?
e o Fie 1 W e 7 & e 3 fora (A) TR 359 fawaor
foRaT ST 2 2 (B) el gfq&qor
(A) I el ST (C) 3 wfceqor

o~ SHafyd yfdegu
(B)  WieelTs ot STem-sren wet # g ®)

(E) rgaia g

(C) @ =afiq feigatl & ftar =1 &t a1 <fred
Toreft s =1 forerar

D) 3D & 29  The system in which mass of working substance

(E) 3rgafd 9

crosses the boundary of the system is called:
(A) open system

(B) closed system

27  To modify an object by moving it to a different
. . . (C) isolated system
location, which command is used ?

(D) adiabatic system

Toreft areq T FohefT qHY T 0 of STt HTiferd shed

(E)  Question not attempted

% foru forw shwie s ST o ST 2 2
a7 yotTeft frerd srefufier garet st gemr yorreft s
(A) MOVE HTHT ! IR LT &, 3 Fal ST 2
(B) COPY (A) el
(C) PASTE ® =
(C) 9 JuUITe!
(D) OFFSET
(D)  &ErH yomTeft
(E)  Question not attempted / aaﬂf{ﬁ Iq (E) 3"3,?&?[ e

E7] 0Q 8 [ Contd...



30

31

32

By the 615 Constitutional Amendment Act of
1988, the voting age was lowered from:

(A) 21to 19 years

(B) 21to 16 years

(C) 21to17years

(D) 21to 18 years

(E)  Question not attempted

1988 o 61 HouTi+eh HeMe A= gRT, 7eaa™
T AT TR FL A TS off -

(A) 219 19a¥

(B) 21®16a¥

(C) 2191799

(D) 219 18a¥

(E) gaidwd

According to RPSG Act-2011 what is the time of
service issue of “Disability Certificate” ?

(A) 7 days (B)
(C) 15days (D)

10 days

21 days

(E)  Question not attempted

ArdteEst fufEm-2011 & IgER “faerai
THIT O ST 3Rt 3hT a1 ST ST RS 2

(A 7fe (B) 10f
(C) 15T (D) 21fe
(E) SIfaia

1 Pascal (Pa) is equal to :

1 YT¥ahed (Pa) TR &

@ 1N @ 10V
© 1%/ @ 0%/

(E)  Question not attempted / 31':@'&?[ LS

E7] 00
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34

Which of the following is not a pressure

measuring device?

(A) Rotameter

(B) Piezometer

(C) Manometer

(D) Differential Manometer

(E)  Question not attempted

fereferfiae & & i 9T STl AT aTeT ST TE 22
(A) T

(B) s

(C) B

(D) favies Bdfiex

(E) qafa 9

Pascal’s law states that pressure at a point is equal

to all directions for:
(A) transient flow
(B) fluid at rest
(C) laminar flow
(D) turbulent flow

(E)  Question not attempted

Ureehed o1 o shedl @ fob forelt fofg o zamer aeft

fomeidenm e 1ag % fagang
BT e |
(A) & (FTFRITh) TATE
(B) ftom oiet were
(C) TR yaTE
(D) 3TRMId YT
(E) 3gaid 9%
[ Contd...
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36

A pipe contains an oil of specific gravity 0.8. A
differential manometer connected at two points A
and B shows a difference in mercury (specific
gravity 13.6) level as 10 cm. The difference of

pressure at two points (in N/m? ) is :

* Consider acceleration due to gravity as 10 m/s>.

T U159 4 0.8 TorfTe Teed o diet 21 21 foigadl A 3i
B T S[ST U farvigeh AHter ait (farfere Teea 13.6)
o TqUH 10 T b1 S fe@mar ) 2 feigedl ot gsra
T A (N/m?) &

* THCATRYUT o6 SHIRUT a0 i 10my/s? /|

(A) 12800N/m?> (B) 1280 N/m?
(C) 13600 N/m?> (D) 1360 N/m?
(E)  Question not attempted / ﬂaﬁﬁ?f Iq

A curve that is everywhere tangent to a velocity

vector in a fluid velocity field at a fixed instant in

time:
(A) Streak line

(B)  Stream line

(C) Path line

(D)  Stream tube

(E)  Question not attempted
T o5k ST 9 o U T3 &0 9 59 9 & 0 U
AT W 3 ToE @7 9T 2
(A) T arE

(B) ¥M

(C) uy@r

(D) Hmd

(E) 3rgaiid 9

E7] 00
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37

38

Air vessel in a reciprocating pump is used to:
(A)

Obtain a continuous supply of water at

uniform rate

(B) Reduce suction head
(C) Increase suction head
(D) Increase delivery head
(E)  Question not attempted

AT 49 8 ST STfeehT 6T STFNT {7 o fore feparr
ST &

(A) THEHM SR AT T AT STl ume 6t o
fer

(B) T &€ I FH i o [T

(C) |HM TS I &M & foau

(D) fechati e &l wgM & fog

(E) 3 9%

If at the inlet of the turbine, energy available is

only kinetic energy, the turbine is known as:

(A) Reaction turbine

(B) Impulse turbine

(C) Francis turbine

(D) Radial flow turbine

(E)  Question not attempted

e TS & e T 3YAY FS] hded Tl Il

2, 7 oTETST 1 39 &Y | STHT 14T 2

(A) s etamsT
(B) ST ST
(C)  hiferg TS
(D) eI yaTe etams
(E)  3gaild o=

[ Contd...
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40

The internal energy of an ideal gas is a function

of:

(A) temperature and pressure
(B) volume and pressure

(C) entropy and pressure

(D) temperature only

(E)  Question not attempted
Teh 3TGYT 716 ohT (AT il 10T ol FH &
(A) ATIHH 3R g

(B) I IR qad

(©)  uegidr STz

(D) ad aMqg

(E) 3rgaid o

The universal gas constant (or molar constant) of

a gas is the product of:

(A) Mass of the gas and the gas constant

(B) Molecular mass of the gas and the gas
constant

(C) Molecular mass of the gas and specific
heat at constant pressure

(D) Molecular mass of the gas and specific
heat at constant volume

(E)  Question not attempted

forelt et =T TTeifHe: T feieh (AT Ao Reuie)

foret < TURe 2T &

(A) T T S R T Rutis

(B) T T AT SRHM 7 4 Feertish

(C) Teerem Wiy 1 3murfees geaam ik fafsry
SEHT

(D) TEer 3TmEaT W g & e Seum 3R
fafars et

(E) gaid o=

E7] 00
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41

42

43

The Zeroth law of thermodynamics is based on

the concept of:

(A) Heat Capacity (B) Temperature
(C) Enthalpy (D) Entropy
(E)  Question not attempted

FEATTferehT shT Sy form forg Sraremon w st
29

(A) FSTamf@r (B) d9HH
©) T (D) Tl
(E) IJaid 9

The internal energy change for a system is +20 kJ
and the work done is —180 kJ. What will be the
heat the and

exchanged between system

surrounding?

ot foreen & faT 3iaftes w1t giEdT +20 kJ &
ST foram TR Rl —180 kI B1 fen 37T 18-q8 &
o= ST T SARE-YEM fohaHT 2

(A) +200KkJ (B) +160kJ
(C) -160KkJ (D) —200kJ
(E)  Question not attempted / 3T B

Availability of a system at any given state is:

(A) aproperty of the system

(B) the maximum work obtainable as the
system goes to a process

(C) the total energy of the system

(D) the maximum useful work obtainable as
the system goes to dead state

(E)  Question not attempted

foreft oft & 778 otaree # ficen it Suctsyar 7

(A) ToEea = s T

(B) foeew & forelt wfspam o ST oz are 81 aretr
3Tfehan

(C) TaeA I Fa s

(D) foew o Hq oTa€m § S T WIW B arelm
JfeRae YA

(E) 3Jaid 9

[ Contd...
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When ice directly converts into vapour, it is

known as:

(A) Vaporization

(B) Sublimation

(C) Saturation

(D) Triple point

(E)  Question not attempted

S % €Y 95§ gfafad & S ®, 97 36 39 ®9

T ST ST 2

(A)  aTdiehTor
(B) 3EqEq
(O

@) Frpriag
(E) 3rgaid o

Constant pressure lines in the superheated region

of the Mollier diagram will have:

(A) A positive slope

(B) A negative slope

(C) Zero slope

(D) Either positive or negative slope
(E)  Question not attempted

HITCTIR TG o SAqaTya & 7 e I [@rd ai:
(A) GdTcHS Bl

(B) ZRUTTcH &I

(©) YT

(D) 3T GTcH 3T HUTHE SATT
(E) 3rgaid o

E7] 00
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47

“One woman plays the groom and the other the
bride and a sham marriage ceremony is
performed”.

For this act identify the most appropriate option

from the following :

(A) Swaang (B) Gavri
(C) Terahtaali (D) Garba
(E)  Question not attempted

e Hfeelt e o fireer Fd & i gl goa
1 3 T frarad e @R R S A
<@ foper 35 o rerferfam 2 & arerd) swges frhe

(A) @i (B) TRt
(C) dTedrd (D) ST
(E) aid

This fort is a unique example of architecture,
which was made with the pieces of rocks scattered

at the place. It is

(A) Lakshmangarh fort

(B) Mehrangarh fort

(C) Nawalgarh fort

(D) Gagron fort

(E)  Question not attempted

7 fohetT ATEqehaT T Ueh ST3T 3aTEUT 2, ol STe-
Se forat =gl % gsl ¥ SR T A9 AR

2
(A) ALHINTE TehedT
(B) WeUHTe fehett
(C) TaeTg fehett
(D) TR fehar
(E) a9

[ Contd...
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was famous as patriarch of
journalism.
Choose the most appropriate answer from the

following options :

(A) Komal Kothari

(B)  Pt. Jhabarmal Sharma

(C)  Karpurchand Kulish

(D) Durgadas Rathore

(E)  Question not attempted
TARITAT o TUaTE o €9 § THE 9

frmfafiaa faeredt o & Fed 39w 3T T:

(A) U SIS

(B) . Zaaet vl

(©)  Ffrer Ffemr

(D) g TSte

(E) Ffdia g

Which was the first princely state in India to enter
into Treaty Relations with the East India
Company ?

(A)
B)
©)
D)
(E)
$e2 3fear Ut o TTy Wiy dete § YAy A At
T ol el Fmerd i € off?

(A) TR

(B) ST

©)

(D) SWL

(E) a7

Alwar
Jodhpur
Banswara
Dungarpur

Question not attempted

EILSEIE]

E7] 00
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51

In 1948, the first session of Jaipur Praja Mandal
was held in Jaipur, who was its President?

(A) Seth Jamna Lal Bajaj
(B)
©)
D)

(E)

Raghuval Dayal Goyal
Bhola Nath Master
Kishan Lal Joshi
Question not attempted

1948 H SRIYL TSI HUSS hT ToH AT SR H
TAT T, THeh STETE i A2

(A) TS AT ATA SIS
(B)
©)
(D)

(E)

T AT M
WIT AT HTET
[EXNEIIICIRI]
CERICRE]

Who inaugurated the Greater Rajasthan ?
(A) Pt. Jawahar Lal Nehru
(B)
©)
(D)

(E)

Sardar Vallabhbhai Patel

Tika Ram Paliwal

Heera Lal Shastri

Question not attempted

TEq TSI T TS fohar foraT oT 2
4. STaTe AT 6%

&R TAIHTS
EEIRIERISIEIS

ERURIC RIS

TN I

(A)
(B)
©
(D)

(E)
[ Contd...



52  The dryness fraction of a 2 kg steam containing | 55  For the diesel cycle, heat input is given by the

1.6 kg of dry steam is: process of :
1.6 Toheimmd 37k W9 arelt 2 fopamm s &

. (A) constant volume
STShaT 3 &
A) 1.0 (B) constant pressure
B) 0.8
C) 06 (C) constant temperature
(D) 04

(D) Adiabatic
(E)  Question not attempted / C‘Flflflﬁ?f Iq
(E)  Question not attempted

53  Which among the following is a boiler mounting?

STt 5% o foTq ST 32 39 Wishar g faa st
(A) Blow off cock

2

(B) Feed pump
(C) Economizer (A) EreCIDIE]
(D) Super heater

_ (B) feRcam
(E)  Question not attempted
(A) S ATE Fih
(B) iguw (D) %8|
(€)  THHMREST (E) rgdia o=
(D) R
() Iqaid o

56  The thermal efficiency of an air standard Brayton

54  Boiler rating is usually defined in terms of: . ) o
cycle in terms of pressure ratio 7, and Y is given

(A) Maximum temperature of steam in Kelvin

by:

(B)  Heat transfer rate in kJ/hr
(C) Heat transfer area in meter? EEICRC RRIN IR Y & G ¥ U EIRKIEED o)
(D)  Steam output in kg/hr =I5k <t AT gerar e T &t g R
(E)  Question not attempted 1
ST X s o e % ged i afefa R
]%FqT SITdr %Z (B) 1— ]_y
(A)  Hiead T WIT o STRrehad aTaH r[i
(B)  kJ/hr H 3SHT TN T © 1-—5

. . p
(C)  TeT? T AT TATALOT & 1

. D) 1=y
(D)  kg/hr H A9 32 p
(E) 374 EORSE Y (E)  Question not attempted / 3T EVRSE

E7] 0Q 14 [ Contd...
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Which area was included in the seventh phase of

the integration of Rajasthan?

(A) Jaipur

(B) Bharatpur

(C) Shahpura

(D) Ajmer

(E)  Question not attempted

TISTET oh UShIShIUT oh HTial ST H ekl €T & SMfHe
[ERIRICIR

(A) SR

(B) WYX

(©) =R

(D) 3T

(E) 3rafid 9

An important Mesolithic site named ‘Tilwara’ is

located in present day:

(A) Barmer

(B)  Chittor

(C) Viratnagar

(D) Bhilwara

(E)  Question not attempted

foeraTeT A T Herayt HEAATIT T Fde
7 feor &:

(A) STEH

B) file

(C) o

(D) ¥fiefaer

() qaid

E7] 00
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60

In which battle, famous Guhil descendent Jaitra

Singh defeated Sultan Iltutmish of Delhi in the

year 1227 7

(A) Battle of Haldighati

(B) Battle of Bhutala

(C) Battle of Khanwa

(D) The first Battle of Tarain

(E)  Question not attempted

wfag et v S fide T w1227 # fooclt %
Yo SedaiHeT s fohe Ig H ST o1 2
(A) B *ITE

(B) T H I

(C) WHATH TS

(D) TqUST HIIIH I5

(E)  3fild o=

Which was the only region in Rajputana that had
not come under the Mughals during Akbar’s
time?
(A)
(B)
©)
(D)
(E)
TISTATHT T THAT &1 i AT AT ST STFaL o THT
i et 35 S1ef 7 ST

(A) TR

(B) waTS

€) =@

(D) EH

(E) 1aid o

Bijapur
Mewar
Dhundhar
Hadoti

Question not attempted

[ Contd...
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A cantilever beam is one which is:

(A) fixed at both ends

(B) fixed at one end and free at the other end
(C) supported at its end

(D) supported at more than two locations

(E)  Question not attempted

(A) TR R

(B) U R o fet 3fiw q@t fat w oeh &

(C) 19 R aT starcifera &

(D) 21 E e TIHT W SAaelferd &

(E) SIgaia d

The load required to produce a unit deflection in

a spring is called :

(A)  Flexural rigidity

(B) Torsional rigidity

(C)  Spring stiffness

(D)  Young’s modulus

(E)  Question not attempted

e 3 o T Fo e Y 6 R ST
TR SR T el & 2

AR BT

TS FHIAT

fsiT hrar

(A)
(B)
©)
(D) I AR

(E) Agaid g

E7] 00
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64

65

The design of thin cylindrical shells is based on :

(A) hoop stress

(B) longitudinal stress

(C) arithmetic mean of the hoop and
longitudinal stress

(D) geometric mean of the hoop and
longitudinal stress

(E)  Question not attempted

T SIS Tt T TSNS 36 TR AT 2

(A) TIdE

(B) 3faed

(C) B9 I ST dHTe ohr SR Hrey

(D) B9 3N AL G T SATHA ATe

(E) qaiaug

The radius of gyration of a circular column of

diameter d is :

ST d aTeT Tk JTeRI T 3ht giegor B 2:
a 4 ® 4
2 2
© < o <
(E)  Question not attempted / H@ﬁﬁ?{ 949

The ratio of equivalent length of a column having
both ends fixed, to its length is:

T TV IS5T8eh 1 4Y e &, T goqed <as o
! AT § AT 2

/2

(A) 2 (B)

1

2

Question not attempted / 3774 B

© * (D)

(E)
[ Contd...
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68

Euler’s formula for Buckling Load of a column
with both ends hinged is:

Where E = Young’s modulus, I = moment of
inertia, L = effective length

T o O fEahT ST B 3T W& T o SR [l IS o
for Tem s e 2

STEf E= AT &1 AT, 1 = Focd A0, L= Tt

EEIS

2
EI nE" [
N B
(A) 72 (B) 2
2 72 22
n_El n E°1
C D
©) 72 D) 72
(E)  Question not attempted / 33Ii|ﬂ|i€'l Iq

A thin cylindrical pressure vessel with closed
ends is subjected to internal pressure. The ratio of
circumferential (hoop) stress to the longitudinal

stress 1s:
se T 91T U 9qeT SRR g91d U SATdieR
qaTd o ST 2| IR () iderer ST srfaed

BIKERECERIGES

(A) 4:1 B) 3:2

© 1:1 D) 2:1

(E)  Question not attempted / C‘Flflflfﬁ 99

Which of the following areas lies in irrigated

north western plain agro climatic zones of

Rajasthan:

(A) Ajmer (B) Jodhpur

(C)  Sri Ganganagar (D)  Barmer

(E)  Question not attempted

fAfaRad & § &9 91 &7 e & fHfa W
st At iy Srerar e B o 2

(A) T (B) STHR

(©) dFmER (D) AW

(E) Igaid g

E7] 00
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70

Which cow breed is known as “Malani Breed” in
local Rajasthani language ?
Choose the most appropriate answer from the

following options :

(A) Nagauri

(B) Kankrej

(C) Tharparkar

(D) Rathi

(E)  Question not attempted

TR ST ATt | 3R Iy T TET T CHTATT

TET o 19 Y ST ST © 2

formafetfira fersedl & & e Suph ST A:
(A) TR

(B)  #hishist

(C) IR

(D) T

(E) 31gaild 9=

The Meja Dam is built on which of the following
rivers of Rajasthan ?
Choose the most appropriate answer from the

options given below :

(A) Luni river

(B)  Sonriver

(C) Jakham river

(D) Kothari river

(E)  Question not attempted

frefafaa & @ 397 oty TSe S fore T8
ECIRIRIRIR

it faw T foreredt 7 @ wed SWh 3T IH:
(A) <A (B) WM
(C) SITE &l (D) RISH TET
(E) 31gaid o
[ Contd...



71  The Harike barrage, from which Indira Gandhi | 73  When did Metro Rail Service start in Jaipur ?

Canal starts, is built at the confluence point of Choose the most appropriate answer from the
which two rivers? options given below :
(A)  Jhelum and Satluj (A) June, 2015  (B) July,2016

(B) Satluj and Beas
(C) Satluj and Ravi
(D) Ravi and Jhelum

(C) May, 2017 (D) April, 2014

(E)  Question not attempted

_ S H BT I T el I 83 2
(E)  Question not attempted ‘-ﬂ%\)ﬁ'& s D =
c n L. . IYY<h 3L HH:
e Sy o & 3R el Ferer e A 2, B T At 6 e S 3
3 FfeaT o T W ST TR R 2 (A) S, 2015 (B)  EE, 2016
(A) e S ETTS (C) ™%,2017 (D) 39, 2014
(B) A 37N =A™ (E)  FIHa 5
(C) Hacs AR
(D) TET IR IH 74  In the context of Rajasthan match the following:
(E) SIgaia s List I List IT
a. Pink city L Khetri
72 Match list Iand List I1. b. Marble City  II.  Rawatbhata
List-1 List-TT c. Copper City  III.  Makrana
(Lakes) (Their location) . .
d. Rajasthan IV. Jaipur
a. Pichola L Jaipur

Nuclear Power
b. Ana Sagar II.  Churu

c.  SambhaLake TIII. Udaipur Project

d.  Tal Chhapar IV. Ajmer e & Hewl # fefafaa = fiam &
Tt 1 S g 11 o forer ) T I T I

T ECiRll a. @I 1 EdE
Eis)) (ITRT TAT) b, HWORYE Il TEaWRT
a. Tustem I R c. o M. 9T
b. IR . % i TR V. W

c. GWIHe M.  38IW -

d. AT BW IV. 3w

Choose the most appropriate answer from the

Choose the most appropriate answer from the

options given below:

options given below: - .
= foehedl § & Hord 3T ST T

<13 fe e Pt & v e e DA
(A) a-L, b-II, c-TV, d-IIT

(A)  a-IIl, b-TV, c-I, d-TI
(B)  a-IV, b-I11, c-II, d-T (B) a1V, b-L, c-II, d-IT

(C) a_L b-IL C-III, d-1v (C) El-IV, b-III, C-II, d-1
(D) a1V, b-I11, c-I, d-11 (D)  a-IV, b-II1, c-I, d-II
(E)  Question not attempted / STTATT T4 (E)  Question not attempted / STFANT T

E7] 00 18 [ Contd...



75

The recommendations of the Ashok Mehta

Committee on Panchayati Raj are :
a. Creation of a two-tier system
b. Reservation of seats for SCs and STs

c. A district should be the first point for
decentralisation
d. Official participation of political parties at

all levels of Panchayat elections

Choose the most appropriate answer from the

options given below:

(A) a,candd only

(B) aandbonly

(C) a,banddonly

(D) a,b,candd

(E)  Question not attempted

TR T OX STRMeh HedT A shi i &

a. S YOTTe S T

b, FIgfed SdEl SR AFEd ST %
foTe e s aATeaoT

c. fachsliertor & forq e foig o e &
=fe

d. ST ATE o W TR O ST et el
SR WTTTERT

e faq T forshedt # @ wad IR ST -

(A) Hada,c3d
(B) wada b
(C) Fadda, b3Md
(D) a,b,c3Rd
() 3Iqaid o

E7] 00
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77

As per the Constitution (74" Amendment) Act,
legislature of states have not been conferred the
power to empower municipalities with the

responsibility of :

(A) Levy, collection and appropriation of
taxes, duties, toll etc.

(B) Implementation of schemes as may be
entrusted to them

(C) Management of law and order

(D) Preparation of plans for economic
development and social justice

(E)  Question not attempted

e (749 wRTE) HAffEH & STER TSl A
fTurareT w1 Tufaes W fefafaa
Toterts div s stfrenr 1=t foam mam 2

(A) T, e, AT AN AT, §IE FT 3R
[EIERISERZEI)

(B) 3= HiUY TS ASITAN BT a1~ hTAT

(C) I 3T T HT et AT

(D) et fasm 3t g = & fou
FISATE dIT HEAT

(E) i o

Who was the shortest serving Chief Minister of

Rajasthan ?

(A) Ashok Gehlot

(B) Hira Lal Devpura

(C) Bhajan Lal

(D) Vasundhara Raje

(E)  Question not attempted

TSTEAT o HeTdl 7 THY Tk el L dTet et
I A7

(A) 37911 e
(B) &I daqq
(C) ¥ oA

(D) TS

(E) qaid 9

[ Contd...
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The state executive of Rajasthan consists of

which of the following ?

(A)  Chief Minister, Council of Ministers

(B) Governor, Chief Minister, Chief Justice of
High Court

(C) Governor, Chief Minister, Council of
Ministers, Advocate General

(D) Governor, Vice President, Council of
Ministers

(E)  Question not attempted

TS & TsF FEio 7 fefafed 8 9 &9
i e 27
(A)  TewE, Hiafg

(B) TSI, H&IHAl, 3= =R & &I
=reftar

(C) TSI, v, Hiaig, Feremar

(D)  TSIITSA, ITSZATd, AN

(E) 3raild 9

The State Human Rights Commission of
Rajasthan can inquire into violation of human

rights in respect of subjects mentioned in :

(A) Union List (List I)

(B) State List (List IT)

(C) Concurrent List (List TIT)

(D) State list and concurrent list (List II and
List I1I)

(E)  Question not attempted

TSEAH T ST AFATYUSR A= Hefafad
o=t & deier ®§ AFETRR & Soaiod il Sie
1v'|7=|')_dT%:

(A) ¥ g @)

(B) U7 gt (gl 1)

(C)  aHardt gt (¥ 1)

(D) TST get 3R wwadi gt (F= 10 AR
gt 1)

() Aqaid g

E7] 00
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81

Pelton turbines are:

(A) Tangential flow turbine
(B) Radial flow turbine

(C) Axial flow turbine

(D) Mixed flow turbine

(E)  Question not attempted
U TS &

(A) w3 yaTg TeEme

(B) Uead yaTE @A

(C) & yaTE SEITe

(D) Tafsra yame e

(E) a9

The device used to increase the intensity of
pressure of water by means of hydraulic energy,

at a low pressure is called:

(A) Hydraulic accumulator
(B) Torque converter

(C) Hydraulic ram

(D) Hydraulic intensifier
(E)  Question not attempted

BTESITeTeh Sl o ATEAT © Y o1 9T I & gara
Sl terdT ol Sg o foTT ST=T fohe ST aTet STaRoT
1 HET ST 2

(A) TSI gam®
(B) 3 AT
(GREECIRERT)

(D)  ETEgifcr St
(E) 3gaid 9%

[ Contd...



82  Capacity of hydraulic accumulator is given as:

(A) Pressure of water supplied by pump x Area
of accumulator

(B) Pressure of water supplied by pump X
Volume of accumulator

(C) Pressure of water supplied by pump x
Stroke of the ram

(D) (Pressure of water supplied by pump) /
(Area of accumulator)

(E)  Question not attempted

BTSEIToToh TaTIeh oh &HdT 38 Yo < STl 2

(A) U9 gRT LA R T qTt T FolTe x W
EaRiERT]

(B) U9 g 3T fohT TC UTt T TalTa x WA
<pl HATAT

(C) U9 g A forT 7T aft b7 gard < 3
LSAED

(D) (99 3R 3AYfd fohq QT 1 g /
GEIREEARSERTS)

(E) Fdia g%

83  The specific speed (Ns) of a pump is:

(When Symbols have their usual meanings)

Te Y i f3feme It (Ns)

(STl Teftehl ST | 379 ©)
NYO NYP

A — 57 ®) 57
NYO NP

© 3 D)~

(E)  Question not attempted / 34'@'&?[ 99

E7] 00
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85

86

The discharge through a single—acting

reciprocating pump is:

(When Symbols have their usual meanings)

Tshdl-foRaTefiet et uu o wrear @ foesi 2
(ST ScftehT T ST AT 379 2T ©)

(A) Q=ALN

(B) 0Q=24LN

(C) Q=24LN /60

(D) Q=ALN /60

(E)  Question not attempted / 3T a9

The thermal efficiency of two stroke cycle engine

is___ afour stroke cycle engine.
(A) equalto

(B) greater than

(C) less than

(D) three times more than

(E)  Question not attempted

3 T1eh sk T shT FEHIT ST =1 Lok <sh SoiT
T fpaft Bt 22

(A) TR (B) Afes
(C) = (D) 9 7T 3Aferh
(E) orgdia

Theoretically the inlet valve should open at what
position of the piston?
(A) Top Dead Centre (TDC)
(B) Side Centre Position (SCP)
(C) Bottom Side Position (BSP)
(D) Bottom Dead Centre (BDC)
(E)  Question not attempted
Agifas T ¥ oI areq, foeeT i formr RRafa ™
G =R 2
(A) 3f¥ ST HAE (TDC)
(B) WSS e feyfa (SCP)
(C) & T i fefa (BSP)
(D) H=r#TgE X (BDC)
(E) gaid e
[ Contd...



87

The process of mixing air fuel mixture in SI

engine is known as:

(A) Ignition
(B)  Carburation

(C)  Scavenging

(D)  Firing of engine

(E)  Question not attempted
T AT 51§ A1 36 THeror bt foretr <t wfsham <t
FEIEKISIEIS |G

(A) g

(B) FHEH

(C) hafsT

(D) SS9 ol wrETET

(E) i g

88
(A)
®)
©
(D)

(E)

The fuel injector is not used in-

Two stroke SI engine
Four stroke SI engine
Steam generator

Four stroke diesel engine

Question not attempted

S oI T IUANT foRerH e Tk e 27

(A)
(B)
©
(D)

(E)
E7] 00

N ELIH T AE S
TR I T 3T 5 |
T S

TR T ST 9 |
I 99

22

89

90

The compression ratio in a diesel engine is of the

order of -
(A) 5t08

(B) 10to 14

(C) 261030

(D) 15t025

(E)  Question not attempted
SISt 391 1 WS SATAT o 56 T 2T € 2
(A) 598

(B) 10¥ 14

(C) 26®30

(D) 15¥®25

(E) 3l o=

The temperature at which the lubricant forms

vapours and produces combustible mixture with

air is known as -

(A)
B)
©)
(D)
(E)

Pour point
Ignition point
Flash point
Normal point

Question not attempted

T ATIHT TS 0 TEeh ST SH7aT & S g & 91
TR TH0T ST &, 38 T Fhed § 2

(A)
B)
©
(D)
(E)

e g
e ig
T 94
[ Contd...
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Which one represents the expression of natural
frequency of system ?

Fr o & fereem o e Tt e
gfdfaferea Far 2 2

@ (5)
® (&)
© ()"
o (&)
(E)  Question not attempted / ST ¥4

If T, and T, are the tensions on tight and slack
sides of belt in Newtons and v is the velocity in
m/sec, the power transmitted is given in Watt as
A T, AR T, A& H o2 % a7 SR et vafi |
TG & ST AT (v) Hieydehe ¥ 8, aF Jfvd 31fh are
TR AR S :

A (G-Tv

®

© G-1,

(D) %.v

(E)  Question not attempted / 3TTANd T4

E7] 00
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94

The expression of sensitiveness of a governor is :

(N, = maximum speed; N, = minimum speed)

oL T GAeasfierar s sAfiysafs 2:
(N, = HAfeerdn 71fd; N, = =IFda 1)

)
® T
©) %
O 20—
(E)  Question not attempted / JATART T4

Which of the following brakes is commonly used

in trains?

(A) Band

(B) Shoe

(C) Band and block

(D) Internal expanding shoe

(E)
ffaRad ® & &9 1 s SAAR T AT H ITTT
[EZISIGIN:

Question not attempted

(A) o

B) I

(C) o I sk

(D)  Aieiteh feredmeaiier 3¢
(E) 3l o=

[ Contd...
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The pair is known as higher pair, when the

relative motion between the elements of a pair is:

(A) turning only

(B) sliding only

(C) rolling only

(D) partly turning and partly sliding

(E)  Question not attempted

39 S o 3= SIS &% ®T A STET ST 2, S Th
St 3 el o S HIUET T A

(A) I AT

(B) Fadt fhaeHT

(C) et ool

(D) HITTeh & © SEAT TR A1 &9 H ToheretT
(E) 3rgafid 9

V- belts are usually used for :

(A) long drives

(B) short drives

(C) long and short drives
(D) medium drives

(E)  Question not attempted

V-SIw T STANT HATHAR T oo foae fopam Sirem 82
NEIEC]

ElCiSE]

et S B g

(A)
®)
©
(D)
(E)

T 3

ST o

E7] 00
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98

The two non-parallel, intersecting and coplanar
shafts are connected by gears, then these gears

are known as:

(A) Spiral gear

(B) Bevel gear

(C) Skew Bevel gear

(D)  Spur gear

(E)  Question not attempted

3 TR-gHMTL, Tdeaied 3 geaqda T 3w IR
ZI S B4 &, A1 37 T Bl 58 0 § ST Sf7ef 2

(A) ufta firr

(B) ddd fiPR

(C) T d9a firr
(D) TRfrR

(E)  3fild 9%

In a drawing, cutting plane is represented by a
‘line” with thick ends and two arrows in the
direction of view, the type of this line is:

(A)

Section line

(B) Chain line

(C) Single line

(D) Double line

(E)  Question not attempted

Tk SIS H ST Wl ! A1 fol areft Uah “w@r 37
S A fawm 9 <1 i gR g S €, 39 W@ a6
TFHR 8:
(A)  HRE A
(B) =W
(C) feimet @
(D) S AT
(E) gaid o
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If a view is drawn at an angle of 30°, such view is

known as:
(A)
(B)
©
(D)
(E)

I IS 39T 30° o IV T E=T SITaT 2, dF W g9
I forl &9 9 ST STaT R 2

(A)  SATSHE g
(B) W

©)
(D)
(E)

Isometric view
Front view
Auxiliary view
Perspective view

Question not attempted

The length of piston usually varies between:
(Where D is the diameter of piston tube)
(A)
(B)
(©)
(D)
()
T il aTE AR W e o st seerd! @t &
(STt D fieed @ T )

(A) D3R15D

(B) 15D3MW2D

(©)
(D)
)

Dand1.5D

1.5Dand2D
2Dand2.5D
25Dand3D

Question not attempted

2D 325D
25D3IAR3ID
T g4

E7] 00
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101

102

The equal and opposite torques are applied at the
two ends of the shaft is known as:

(A) Torsion of shaft
(B)
©)
D)
(E)
I o ST Torh X | 37 ferodia e o st
2 Forr 58 wehT STTIT T 2:

I T AU (M)

Moment of inertia
Pressure
Bending stress

Question not attempted

(A)
B)
©
(D)
(E)

CGIC]
SEEEIC)

AT T

Hook’s law holds good up to -
(A)
(B)
©
(D)

Yield point
Elastic limit
Plastic limit
Breaking point
(E)  Question not attempted

o o1 e Frfafiad ae @ a2 -
(A) wwe foig

G

TR HHT

fertsifeRm) foig

I RRICRE]

(B)
©
(D)

(E)
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103 The figure shows arrangements of springs.
They have stiffness K, and K, as marked. Which

of the following arrangements offers a stiffness
. 2KK, )
- K +2K,

et i fRsilt ht sareart fo@s 7 ) 3 FEAT K|
R K, 3ifera 8| frefafiad 4 @ ST o e

2K, K,

AT = m Y FAT 8 2
K1

(A) K
K1

K1 K1
(B)
K2
K : K
© 2 1| Kz
777777
K2 K2
D)
K1
(E)  Question not attempted / 34'@'&?[ RES

E7] 00
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104 The value of centre of Mohr’s circle if stresses at
a point is given as :
G, =40 MPa, o, =—40 MPa, Ty = 10 MPa
B o g, ol HI AT I, AT Teh foreg W et

6, =40 MPa, o, =—40 MPa, Ty = 10 MPa

(A) (40, 40)

(B) (0,10)

© (0,0

(D) (40,—40)

(E)  Question not attempted / ST I

105 Modulus of Elasticity is mathematically defined
as:
A) E=—, where G = stress, € = strain
_F - -
B) E= T where F = Force, A = area
(C) FE= % , where P = pressure, A = area
(D) E= %, where F = Force, € = strain
(E)  Question not attempted
SCATEIAT HTdTeh 3h TTOT Y 9 & Fohel SehR gt
T Smar g 2
(A) E=7 &l o =T, ¢ = fogfa
_F 2 e -
(B) E=-"7 S F=5d, A=
© E-L weip-am a=dm
© E=L weir=wm, o =frf
(E) gaid 9
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106 The relation between modulus of elasticity (E), | 108 In the stress strain curve given below, the point
modulus of rigidity (G) and Poisson’s ratio (v) is ‘B’ is known as:
given by:
N E
° D
QI o AT (E), FH3T o HIY (G) 3T U788 6 B
.. F
ST (v) 3 e Haer 39 SR fem T R Ad C
(A) E=2G(1-v)
e
B) E=2G(2+v) O
© E=3G(1-v) (A) Proportional Limit
(B) Elastic Limit
(D) E=2G(1+v)
(C) Yield Stress Point
(E)  Question not attempted / ﬂﬂﬁﬁﬁ 99
(D) Breaking Stress Point
(E)  Question not attempted
107 In a simply supported beam carrying a uniformly ﬁﬁqmuﬁaaﬁsgﬁra%ﬁﬁg ‘B’ %! 39 T
distributed load of w per unit run over the whole ST ST &:
span (L). The maximum bending moment is A
equal to: o E
B D
e AR et ford sftH § QU T (L) T 3 e Ad C
W w g9 &7 9 faafid R gar 21 stk
A ST S 2
0 BG
(A) wL6
(A) ST €T
(B) wL%4
(B)  YcITEY €T
(C) wL8
(C) W Wicare foig
D) wL38 .
) (D) ferIrSi gfderet feig
(E)  Question not attempted / 34'@'&?[ 99 (E) SAaa s

E7] 0Q 27 [ Contd...
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110

Select correct expression for bending equation of

beam:

19 & ST iRt & fore wet stfireafs 1 =

M_o_FLE
A T=VR
M_o_E
B —_— == =
M _ o E
C —_=— =
() [2 y2 R2
M_Y _R
D) T=5"F
(E)  Question not attempted / Cﬂaﬂﬁ?‘f Iq

When the sleeve of a porter governor moves

upward, the governor speed :

(A) Increases

(B) Decreases

(C) Remains unaffected

(D) First increases then decreases
(E)  Question not attempted

T TIOT AT shl TeATd HUT T 3T T 7, T ML
EARIIE

(A) wETdlE

(B) HEWIdTE

(C) STl Tt &

(D) U& sTgdl € Tt et &
(E) Agaid =

E7] 00
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111

112

The process by which the speed of the engine is
maintained constant regardless of the changes in

load on the engine-

(A) Ignition
(B) Governing

(C) Cooling

(D)  Sparking

(E)  Question not attempted
EERIERIEEERANESERISIEE R CRE R AR C I
for fom 357 <t mifer fer Tt STt 2-

(A)  sfee

(B) TafT

(©) Ffem

(D) TTfehT

(E)  3T{mied o

The ratio of brake power to indicated power of an

internal combustion engine is called:

(A) Mechanical Efficiency
(B) Thermal Efficiency
(C) Volumetric Efficiency
(D) Relative Efficiency

(E)  Question not attempted
FIANH & 9 hl 5i%h ik ST Hehldh IMh
SREIN] T el ST &:

(A) ik 3&ar

(B) e qardr

(C)  FreTHfe 2t

(D) W gaxaT

(E)  3gild o=
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113

114

The method for determination of indicated power

of multi-cylinder engine is:

(A) Morse test

(B) Prony brake test

(C) Heat balance test

(D) Impact test

(E)  Question not attempted

Tg-orcTet E5 3T Heonldeh STk o Freor 3 fafer 2:
g gdieror
T sieh TiieTor

(A)
(B)
(C) T He Frer

(D) I gdteor

(E) 3rgafiid 9

A 40 kW engine has a mechanical efficiency of
80%. If the frictional power is assumed to be
constant with load, what is the approximate value
of mechanical efficiency at 50% of the rated

load ?

40 TFeAIaTe o $1 <t =ik <&TaT 80% B AfS ooy
SIfeh <l WX 3 91 fRe T ST 8, 91 1S W

50% T FiFeh GEAT T STAIT qoo FT 8 2

(A 33%
B) 66%
©)  75%
(D) 90%
(E)  Question not attempted / 34?03'?{?{ Iq

E7] 00
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115

116

A gas turbine works on which one of the following

cycles?

(A) Rankine

(B) Otto

(C)  Bryton

(D)  Stirling

(E)  Question not attempted
e e feferiad § o forer =sh T2 s 3T 22
(A) e

(B) 3=

(C) g

(D) Tfm

(E)  3gild 9%

In a gas turbine, the turbine output is 600 kl/kg,
the compressor work is 400 klJ/kg and the heat
supplied is 1000 kJ/kg. The thermal efficiency of

this cycle is:

Te, 71 ZTETS H, TS ST3YL 600 ki/kg &, FHIET
I 400 k/kg & ST AT 61 T8 ST 1000 ki/kg
HEGEEEE IR PRASC IS

(A)  20%
(B) 40%
(©) 60%
(D) 80%
(E)  Question not attempted / 31'@'?{?[ Iq
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Ratio of isentropic work to Euler’s work in

centrifugal air compressor is known as:

(A) Slip factor

(B) Pressure coefficient

(C) Work factor

(D) Degree of Reaction

(E)  Question not attempted
HETIEE AT TS | HTFHIMUH el 7 Ter
1l o TIATA I 36 JHR ST ST &
(A) T&eTa Sex

(B) =TS TUIH

(C) = FRH

(D)  wfafsrar i ferft

(E) SIgaia

For a two-stage reciprocating compressor,
compression from pressure p, to p, is with perfect
intercooling and no pressure losses. If
compression in both cylinders follows the same
polytropic process and the atmospheric pressure
is Pa, then intermediate pressure p, is given by:

1-=ROfe AR e % feIq, go1e p, W p, T
Hefte qut Sfaweiiad o | 2T 2 SIS e a

e Bt 81 fe ST frctetl § gt g9 diefierfues
SITSRAT 2T TR0 AT & ST AgHSHT &1 Pa B,
Al el gaTd p, 36 TR AT ST 2:

+
A) p2:<191 21?3)

P
(B) P,= pa]Tf
P

€ py=pay/ 53
D) pry=vpip3
(E)  Question not attempted / 34?03'?{?{ Iq

E7] 00
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119

120

The second moment of a circular area about the

diameter is given by : ( ‘D’ is the diameter)

ST o < S Teh TR & ol g8l AT
YRR foam ST 8: (‘D = )

w 2
® L
© =
o L
(E)  Question not attempted / 3'~|'—|j|ﬁ?'f BE)

In Mohr’s Circle, the centre of the circle from

Y-axis is taken as:

gL Tohel H, Y-31& © Hohel T g 0 ThT form

Trl'l'clT%:

A) X ; oy
® T

© (op ; oy . .
(D) csx;cy 1

(E)  Question not attempted / 3T a9y
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SPACE FOR ROUGH WORK / T% & o feTu Lo

IR T | &l WA & - e Fir 3 ety S, ot S ox ottt et Sie ¥ U6 qiarel o8 e ohi a1 Siaar
afteren <kt €T, wtereff wert foeter ufd <t STem et ol | sereh g 3T e ol qet Wid ol 319 urd ST 3R, Tt
il <1 9t Ui & e ATST U A1 L M Yeieh ST T qlieelT shi @i | wltemeff fedta wfa =t svoq aror ot
SR |
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